	1
	What is the area of ABC ?
	D

	2
	Enlarge ABC S.F. 3 centre (0,1). Label the new triangle A’B’C’
	C

	3
	Calculate the length A’B’.
Leave the answer as a square root.
	C

	4
	Calculate the size of angle B’A’C’ to 1 decimal place.
	B

	5
	What is the Scale Factor of the area of the enlargement?
	A

	6
	Rotate ABC 90˚ anticlockwise, centre the origin
	B

	7
	Draw a circle centre (14,5), radius 5
	D

	8
	What is the area of the circle?
	C

	9
	Plot the points D(11,1), E(10,8), F(18,8), G(17,1). Join them. What is the name of the shape DEFG?
	D

	10
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Calculate the area of DEFG.
[image: image2.png]Area of trapezium = L (a+b)h




	C

	11
	Angle FGD is 98°. How many degrees is angle DEF? Give a reason.
	B

	12
	Reflect DEFG in the x-axis?
	D

	13
	Draw the line x= 14
	C

	14
	Shade the semi-circle to the right of the line

 x = 14 and calculate the perimeter
	C

	15
	Solve the following pair of simultaneous equations. Plot (x,y) and label the point P
2x + 2y = 14

2x + y = 8
	C

	16
	Solve the following pair of simultaneous equations. Plot (x,y) and label the point Q

4x + 2y = 26
5x - y = 1
	B

	17
	Draw a straight line passing through P and Q. What is the gradient of the line?
	B

	18
	Write the equation of the line in the form

 y=mx + c
	B

	19
	Factorise this expression
x2 – 9x + 8
	B

	20
	Solve the equation
x2 – 9x + 8 = 0

On the graph mark where the curve

 y= x2 – 9x + 8  would cut the x-axis
	A
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